
Subtracting Decimal Numbers with Three or More Digits Date: Name:

(Show your working) http://www.learnersgrid.com

[a] 250.6 − 147.51 = [b] 1624.3 − 527.902 =

[c] 468.4 − 144.84 = [d] 1889.0 − 762.288 =

[e] 7417.2 − 1210.59 = [f] 1674.4 − 519.507 =

[g] 1419.8 − 974.50 = [h] 1612.6 − 540.067 =

[i] 5027.7 − 10.77 = [j] 9697.9 − 508.723 =
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ANSWERS
http://www.learnersgrid.com

[a] 250.6 − 147.51 = 103.10 [b] 1624.3 − 527.902 = 1,096.40

[c] 468.44 − 144.8 = 323.60 [d] 1888.988 − 762.288 = 1,126.70

[e] 7417.19 − 1210.59 = 6,206.60 [f] 1674.407 − 519.507 = 1,154.90

[g] 1419.8 − 974.5 = 445.30 [h] 1612.567 − 540.067 = 1,072.50

[i] 5027.67 − 10.77 = 5,016.90 [j] 9697.923 − 508.723 = 9,189.20


